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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� EDJDLPDQD� SHQHUDSDQ� DNXQWDQVL

SHUVHGLDDQ� VHUWD� SHQFDWDWDQ� GDQ� SHQLODLDQ� SHUVHGLDDQ� SDGD� .RSPDUW� .RSHGLNR��

DSDNDK� WHODK�VHVXDL�GHQJDQ�VWDQGDU�DNXQWDQVL�\DQJ�EHUODNX�\DLWX�6$.�(7$3�XQWXN�

NRSHUDVL� -HQLV� SHQHOLWLDQ� LQL�PHQJJXQDNDQ SHQGHNDWDQ� GHVNULSWLI� NXDQWLWDWLI EHUXSD�

REVHUYDVL� GDQ� ZDZDQFDUD�� 'DWD� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� \DLWX�

PHQJXPSXONDQ�GDWD�VHFDUD�ODQJVXQJ� WDQSD�PHODOXL�SHUZDNLODQ��GHQJDQ�PHQJDMXNDQ�

SHUWDQ\DDQ�SHUWDQ\DDQ� VHFDUD� ODQJVXQJ NHSDGD� QDUDVXPEHU�� 7HNQLN� DQDOLVLV GDWD�

PHQJJXQDNDQ�WHNQLN�DQDOLVLV�GHVNULSWLI�NXDQWLWDWLI�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� EDKZD� SHQHUDSDQ� DNXQWDQVL� SHUVHGLDDQ� SDGD�

.RSPDUW�.RSHGLNR� VHEDJLDQ� EHVDU EHOXP VHVXDL� GHQJDQ�6$.�(7$3� \DQJ� EHUODNX��

+DO� WHUVHEXW� PHQXQMXNNDQ� EDKZD� SHQHUDSDQ� DNXQWDQVL� SHUVHGLDDQ� SDGD� .RSPDUW�

.RSHGLNR� PDVXN� NDWHJRUL� EHOXP� HIHNWLI� GDQ� HILVLHQ�� .HUDQJND� SHPLNLUDQ� GDODP�

SHQHOLWLDQ� LQL�PHQFDNXS�VLVWHP�SHQFDWDWDQ�SHUVHGLDDQ��PHWRGH�SHQLODLDQ�SHUVHGLDDQ��

VHUWD��SHQ\DMLDQ�SHUVHGLDDQ�\DQJ�VHVXDL�GHQJDQ�6$.�(7$3�


